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FUIT GIARTT R fF 57 qe7 97 # Flad 955 &g # 18 &
IR 5TH 30 F97 &/

Please make sure that the printed pages in this question
paper are 18 in number and it contains 30 questions.

o o7 GF & &Ts N I3V v FF FAFaY FI BI7 GART IR-GedHT
& Ggel gvS GV fel@r ST afev)

The Code No. on the right side of the question paper should

be written by the candidate on the front page of the answer-
book.
o [FH goT FT 36X eI YF FNel & Ugel IHHI FHIF [o1GAT F1TT

Before beginning to answer a question, its Serial Number

must be written.

o YA 3TX GRETH H GIell Goadl /9ot T B3/



Don’t leave blank page/pages in your answer-book.
IR-GRETPT & HIARFT  #ls 379 oflc gl & e e
HTIFAFAR 61 feld T 0@ 3¢ &) 7 FIc/

Except answer-book, no extra sheet will be given. Write fo
the point and do not strike the written answer.

GO 3G el AI T9A GT G HTIT [/

Candidates must write their Roll Number on the question
paper.

HGIT Jor7] & 3R G & qd g GlARIT &Y o 1& o797 qof
g TET & giam & IuIaT 39 g & i Ht grar T&iFw J8t
oTTIT/

Before answering the questions, ensure that you have been
supplied the correct and complete question paper, no claim

in this regard, will be entertained after examination.

AT Rder

(i) Tt geT faart &
(i) a&glava el & @el aFeyq ford/
(iii) e ToT @ 3 36D HH T TT &

General Instructions.:

(i) All questions are compulsory.
(ir) Write the correct option in objective type questions.

(i) Marks of each question are indicated against It.
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s
SECTION - A
(e faeme)

(Physics)

o & =T 3gaR eprer Gof fondly Siere & gl A T B
& IUTad 8l A gl C dar D & agX [Aead &l
Jigg & AR [F=afaf@a & @ w21 g gaar 87 1

¢«

a) PIT P AAAPR Told
b) 3de o

c) 3add o

d) Brsa

Beams of light are incident through the holes A and B
and emerge out of the box through holes C and D
respectively as shown in the figure. Which of the

following could be inside the box?



a) Rectangular glass slab
b) Convex lens

c) Concave lens

d) Prism

fAFATai@a # @ Siaar dieedr & HEAd SHar §7?

T =T T
faega urT x gHg

b) fRIT I”THRT X 3MTAer

a)

T IR—T F X FHT
faega umr

d) fRar IR X AAUT X THT

c)

Which of the following represents voltage?

Work done
a)

current X time

b) work done X current

) work done X time
current

d) work done X current X time



faegd aRual &1 oguye TUT JTIHR0T & HROT glel arell
gIfeT & GRET T TR FgeaquT FrreT I

is the most important safety device used

for protecting the circuits due to short circuiting or

overloading of the circuits.
3TTERTRT T 9T Alell AT fe@rs &ar g7 1
Why clear sky appears blue?

fFafoaa a9 H o saa §: JATFFUT (A) 3R &ROT (R),

9Re & A e AT Iuged fdshed #1 T U 3R
ALY 1
AR (A): G TS QW 3@ #1 e fdg 25 4. @
3fOF g &I &l

HROT (R): 3adel ofF arel IRF T AT T Y give
Ay @ & fFAT ST ThaT B

a) Ad R 3l T § 9T R, A &I &g <Ir@n gl

b) AT R Gl T § dUT R, A &I TEr SIr@aT =18l ¢l

c) A I § WJ R 38T &

d) A 38T § W R a7 ¢l

The question below consists of two statements: Assertion
(A) and Reason (R), answer the question by selecting

the appropriate option given below.



Assertion (A): The near point of a hypermetropic eye is

more than 25 cm away.

Cause (R): Hypermetropic eye is corrected using

spectacles containing concave lens.

a) Both A and R are true, and R is the correct

explanation of A.

b) Both A and R are true and R is not the correct

explanation of A.
c) A is true but R is false

d) A is false but R is true.

fAetaf@a & gy difaw:
a) Y1l T fagrgor 1
b) guTshe 1

Define the following:
a) Dispersion of light
b) Spectrum

a) Rl Regd &ex & A F=t 3aca A @ & Sl

3l d9e 37939 3d°d gl Sdm g7 1

Why does the cord of an electric heater not glow while

the heating element does?



b) fAegd e FiFAAT S oF X FAT faeg I3 &
Teleh EET T3 & T W A g3t & F4 o7 S
87 1

Why are conductors of electric heating devices such as

bread-toaster and electric irons made of an alloy rather

than a pure metal?
372rar
Or
Ig gesv b 3T 60 AT & i gfcRieesr g g&R
TAIfSTT S o6 TdieteT &1 gred gfe’ier (i) 90 T (i) 40
glam| 2

Show how you would connect three resistors, each of
resistance 6(), so that the combination has a resistance

of (i) 9Q and (ii) 4Q.

37T T AT SA8U| 9o &1 82 Rl ares & giaer
foreT FROT W AR aar g7 3

State Ohm’s law. What is resistance? On which factors

does the resistance of a conductor depend?
fordl B3 gaeh & IRT 3R IIhT &7 1@ TiRw| by
& @3 & Ui AT G TS 3

Draw the magnetic field lines around a bar magnet. Write

down the properties of magnetic field lines.



10.

3ar

Or
a) IR 4T gl 87  fhdl fegd emmEmer o
aReTferer & R dahg &7 FHar grm? 2

What is a solenoid? What is the magnetic field inside a

long solenoid carrying current.
b) Ef&IoT gEd-319ss fAwH S| 1
State right hand thumb rule.

a) YRRl T GIadel FIT §? Wadd & g for@r 3

What is reflection of light? Write down the laws of

reflection.

b) Frfafea Fufaat & gged qdor & yR sdBv
39 3AR AT HRUT ddIST: 2

(i) FET SR &1 377 A9 (¥2 o5
(i) frET argeT &1 UTRd guuT

Name the type of mirror used in the following situations

and state reason for your answer:
(i) Headlight of a car
(i) Rear view mirror of a vehicle
3Ygar

Or



a) 3ddl o d Hadd ol H 3R TS hifad| 3
Differentiate between convex lens and concave lens.
b) & g7 faf@u] 1
Write the lens formula.
c) fordr o/F &7 1 3E3MTeX AT o IRATNT HItaT| 1
Define 1 dioptre power of a lens.
s

SECTION - B

(T faemer)

(Chemistry)

1. Aeff@d & @ i @ A9 @eg gerdt d [eaerfadr
Aehelr g7 1

Which of the following gases prevents rancidity in foods?
a) Oxygen
b) Hydrogen

c) Nitrogen



12.

13.

14.

15,

d) Chlorine

NaHCO; &1 Jafeld =T T g7 1
a) orcas

b) fatater ot

c) Sfhar e

d) emaeT &rsr

What is common name of NaHCQO;?

a) Gypsum

b) Bleaching Powder

c) Baking Soda

d) Washing Soda

Teh 37T ¢ St faegel &l garos gl 1
iSs a non-metal which is conductor of
electricity.
QIfSTA 91q 7 FAAA F FAT @1 ST g2 1

Why is sodium metal kept in kerosine oil?

eafoiaa o2 & af & AFPAT (A) 3R FROT (R),

T & dT e T 39YeFd Qreg FT T FA U 3R

gIfaT| 1
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IfFRYT  (A):  MnO, + HCl > MnCl, + 2H,0 + Cl, Th
3UTIT 3TTRTHAT FT 38T B

$ROT (R): 30 3fAfhar & HCl, ClL, & 399@d TAT Mno,,
MnCl, & 3IRT & W& ¢

a) Ad R 3l @ § 9T R, A &I &g <JrE3n gl

b) AT R Gl T § dUT R, A &I Tgr SI@aT =Tal ¢l

c) A §T § Wd R 38T ¢l

d) A 38T § W R &7 ¢l

The question below consists of two statements: Assertion
(A) and Reason (R), answer the question by selecting

the appropriate option given below.

Assertion (A): MnO, + HCl - MnCl, + 2H,0 + Cl, is an

example of redox reaction.

Cause (R): In this reaction HCI is reduced to Cl, and

MnO, is oxidized to MnCl,.

a) Both A and R are true, and R is the -correct

explanation of A.

b) Both A and R are true and R is not the correct

explanation of A.
c) A is true but R is false
d) A is false but R is true.

16. 3cTAIHI0T JTRTHAT FAT 2 TS 3EEI0T & 2

11



What is neutralisation reaction? Give an example.

17. 313 o S8 3GIUT &l Ueh dlavd H W Aig HNO; & faeraer

18.

19.

20.

H 3Telel 9T FIT IaT 87 2

What happens when eggshell is placed in a beaker

containing concentrated solution of HNO3?

RI& & S H 9T S ard 3Fd & A7 T T@ T g
for@r R & S @ g ard & ¥ TehRT I T Teh
AATT qlehr 8 Far| 3

Write the name and chemical formula of acid found in
ant sting. Also give the common method to get relief

from the discomfort caused by ant sting.
A A 0T & R R GTg3l T 3MUTIl & ALY IR
s FHIST| 3

Differentiate between metals and non-metals on the basis

of chemical properties.

3gdar

Or
fAEaTasT Td HolT # 30T Figd A TISC AU
a) GISZISTallnT T §? 8T il equier fod|

2

What is hydrogenation? Write its industrial application.

12



b) &&=l & 3o UM & Fose R G §9r dear A
FleeT JfAHT FT HATOT BT B 3

Explain the properties of carbon which lead to formation

of large number of carbon compounds.

3r2rar
Or
a) Yecad & T 39 fohdsl TXAATcAS® FATGIAr 1 fFo7
Y Ghd 87 2

How many structural isomers can you draw for Pentane?
b) fe=T TP Hr TTAT FATT 3
) TS IFA
i) SYAsCeT
iii) gFdetel

Draw structures of following compounds.

i) Ethanoic acid
ii) Bromopentane

iii) Hexanal

13



21.

22.

gs- T

SECTION - C
(e fa=mme)
(Biology)
fArIfaf@a # & S @1 3eig iy §? 1
a) g
b) &
C) hIETS
d) 3TH & IS QT
Which of the following is non-biodegradable?
a) Glass
b) Grass
c) Paper

d) None of these

fArafaf@a & @ frad gerdegias @ Sielel g Fohl 87 1

14



Which of the following can reproduce by regeneration?
a) Hydra

b) Planaria

c) Both of the above

d) None of these

23. 3l & 31 & e AT ¥ T §
1

Ozone molecules are formed from three atoms of

24. AT & Fd H qHT TR &1 [FIH7T Hiaar gl ar g2
1

Which hormone regulates the sugar level in the human

blood?

25. fAafof@aa oo & af = §: JAFeUT (A) 3R FROT (R),

TRe & A e AT Iuged fAshed #1 T U 3R
I 1

3fHFUT (A): T QaTEACT H A T Bl &, o TG WprAd
e gl &l

HROT (R): @RIl 3UTREY garT FAFYT B

a) Ad R 3l g § 9T R, A &I &g <ar@an gl

b) AT R Gl T § 4T R, A &I TEr SIr@aT =18l ¢l

15



26.

27.

28.

c) A §I § WJ R 38T &

d) A 38T § W R &7 ¢l

The question below consists of two statements: Assertion
(A) and Reason (R), answer the question by selecting

the appropriate option given below.

Assertion (A): When there is no air in the trachea, it is

not compressed.
Cause (R): The trachea is supported by cartilage.

a) Both A and R are true, and R is the -correct

explanation of A.

b) Both A and R are true and R is not the correct

explanation of A.

c) A is true but R is false

d) A is false but R is true.

IATETSH 3R AZell, TAh & & H T 2
Write two functions of each, cerebellum and medulla.
AT FiFAAT A & FAT FROT & Fohd 87 2

What could be the reasons for adopting contraceptive

methods?

Teh o0 T IEIEEd HIC AAThd [T =] 3

16



29.

30.

Draw a well labelled diagram of longitudinal section of

flower.

HSSl & YN caRT i Il Ierr o 8707 SArdr 3rar
YA g 872 3

How do Mendel's experiments show that traits may be

dominant or recessive?
AYgar
Or

Al # s &7 folor fFaRor F& giar 872 3

How is the sex of the child determined in human beings?
a) AU 3R fAvEar givor & §g A9 3R @ 3

Write three differences between autotrophic and

heterotrophic nutrition.

b) FsT # HieFeliolel 3R HITA-STS3FASS T GRAET Hd
gidr 87 2

How is oxygen and carbon-dioxide transported in human

beings?
AYgar
Or
a) AT 3cHoled dF F AHIhd =T TATT| 3

Draw a well labelled diagram of human excretory system.

17



b) srAfATT TUr RN &7 X @ 2
Write the difference between arteries and veins.

18



MARKING SCHEME
CLASS- X

SCIENCE (2023-24)

o HF-Aorem # Ru v sw-feg sifaw 7t 81 ¥ gomareas @
Fidfaw g1 afy odemdft & g9 e, freq 3ugea s R &,

ar 39 39T I+ T S|

e The answer points given in the marking scheme are not final. These
are suggestive and indicative. If the examinee has given different, but
appropriate answers, then he should be given appropriate marks.

Q. Questions Marks
No.
1. | a) HIT & ITAASPR Told
]
Rectangular glass slab
2 TR AT FRY
. a)
faega urr x gy
Work done 1
current X time
3. |l W1 & Yhrr T FehroTer 378 gleT & HROT TR

T T At fe@g ¢ar &

Clear sky appears blue because blue colour is most
scattered.

ol

N




Fuse

c) A I § WJ R 38T &l

A is true but R is false.

a) GI & YR (WA FhIeN) F WsH & TR N T8
YRl | 3Gy i H [asterd g 1 gl
(1 37)

When sunlight (white light) passes through the prism,
this light is divided into seven constituent colors.

(1 mark)
b) edd YT & TuT fI&IUT & Herd®q 9rod aTd Wi
T 3HeJsh# AUThHA hgellal ¢

(1 3t)
The sequence of seven colors obtained as a result
of the dispersion of white light is called the spectrum.

(1 mark)
a) faegd greX &I SN T YR FI0T gielm g
safav gg 3acd 8T g (V2 37)

Safeh 3G di9eT 379dd &1 IfaUy 38 gl & 398
318 FSAT 3cTeT gl & 3R ag 3dca & Srar gl

(V2 37h)
The resistance of the electric heater cord is

negligible. So it doesn't heat (Y2 mark)
Whereas due to the high resistance of its heating
element, it produces more heat and becomes
agitated. (2 mark)

b) TN &I IFRIEHAT 3¢ dellal dTell et LT3t
r 3198t 3ifEE Bl gl (V2 3ieh)




3T A9 W 8 A AT erdieh e 8|

(Y2 37)
The resistivity of alloys is higher than that of the
pure metals that make them. (Y2 mark)
These alloys are not oxidized even at high
temperatures. (Y2 mark)

Or
(i) 90 9faIer gread & v @ ufaieeT i aredshd
H TuT T UfoRies Y 3o AvihA #F SligAT AUl
(1 37R)
(i) 4Q IR gred A & fow a7 gfareshi & S
A Sg STl Jed 9ialiyr =60+60=120 Y 5@ AW
gfcRIET & AT URdshd H SgAT A1figU|

(1 37)

(i) To obtain resistance of 9Q, two resistors should
be connected in parallel combination and one resistor
in series with them.

(1 mark)
(i) To obtain 4Q resistance, two resistors should be
connected in series whose equivalent resistance =
6Q + 6Q = 120 then added in parallel combination
with this third resistance.

(1 mark)

A & FFF & FgER Il av e ifaw e
fAgd @i are o R gfoigs & R & i 3cued
fasrarraR 3HY yafed ORT & FATUCT g g

(1 3%)




fordl =mereh T ag A[UTE ST Arele A fdegd URT Yarg
I Y AT § faegd afaer swgerdr g

(1 37R)
R amere 1 gfoiyr fAeafaf@d e W AR FHar
g AR I oFeTs, HTeieh o 3TIOEY Hic & &TIhel, Tard
CARCCACT

(S al, IAF & ¥ 37)

According to Ohm's law, if physical conditions such
as temperature remain constant, then the potential
difference generated between the ends of a resistor
is proportional to the current flowing from it.

(1 Mark)
The property of a conductor which opposes the
current flow in the conductor is called electrical
resistance.

(1 Mark)
The resistance of a conductor depends on the
following factors: the length of the wire, the area of
the transverse cut (cross section) of the conductor,
the nature of the substance.

(any two; %2 marks each)




GRa 3@ feem afga- 1 3)

1. TFehT & Y@T 3T Y @ fsherey gl ga

# garfed & S ¢ |

2. ¥ & 3T, Yrahg &1F T feur saeh afEoh ¢ga
O 3 ¢ AT 3R BT ¢ |

3. FIHT &1F WY §¢ a% el ¢ |

4. STgT YFaehId &9 JWIT Tl Bl & a6l greehrd &1
FSAT BTl § |

5. & TFaT 8T Y@V F3 vh gE A ufaedg 6
AT 8 |

(P IR; TAH HT ¥ 37h)

/
g

(Proper diagram with directions- 1 mark)

1. Magnetic field lines emerge from the North Pole

and merge into the South Pole.

2. Inside the magnet, the direction of the magnetic

field is from its south pole to the north pole.

3. Magnetic field lines are closed curves.

4. Where the magnetic field lines are dense, the

magnetic field is strong.

5. Two magnetic field lines never intersect each other
(any two; 2 marks each)




Or
arg arg e faegerieh died & AR i defel I 3TTehic
T 3 B arell Fsell & aR=AIR Fed B
(1 37h)
aRerifernr & ek Irahid &1 [T FAGR @13 6
Afa g g1 frel oRenfos & sfiaw @el fawgaf
ThEHAT TFaehd &1F Bl &

(1 31h)
I §H Yl cIfgal g1 H eI d YRIATET dTelsh I 54
JhR Uhs foh §ART 39T faegd &rT & 3T Hevel LT
g, @ FHRY 3T aTee & ARt 3R R & d
@3t Fr feer 7 fagdr gl

(1 3i)
A multiple-round coil of the cylinder shape of an
insulated copper wire wrapped nearby is called a
solenoid.
(1 mark)
The magnetic field lines within the solenoid are like
parallel lines. All the points within a solenoid have
the same magnetic field.
(1 mark)
If we hold the electric current in our right hand in
such a way that our thumb points towards the
current, our fingers will be wrapped in the direction
of the lines of the magnetic field around the
conductor.
(1 mark)




10.

a) ST 9ehrer fohdr difelRigR ool W FRar g af a7 &
TR TehIeT T 3T ATIH H olic Jdr gl 39 °ear
P YRTA T TddeT Fed ol

(1 3i)
Wddd & AeATalf@d af @a# g-
(i) 39T T JAT Wdded PV Hed s BT g,
AT zi=zr.
(1 3i)
(i) 3mafad feor, Wafda foxor aar iffess dar
TF & ad H g §
(1 3i)
When light falls on a smooth and polished surface,
the light is returned to the same medium by hitting
the surface. This phenomenon is called reflection of
light.
(1 mark)
The following are the two laws of reflection:
(i) The angle of incidence and the angle of reflection
are always equal, i.e. zi=«r.
(1 mark)
(i) The incident ray, reflected ray and normal are
all in the same plane.
(1 mark)

b) (i) 3rader ggor

(Y2 3Th)
AT H GhI I ATFA/MC FATR fahor gor e
A & fau fHar arar g

(Y2 3Teh)




(i) 3der guor
(V2 37h)
Fifeh 3del  GUUT Wea YT, AT, qUT MR & G
oIel IfAfaFe Folld § dUT Soeh SgY Sl 3R dfshd glel
& HRUT FoIal Tfoe &7 g 30 gl &l
(P TH, % 3ih)
(i) concave mirror
(Y2 mark)
It is a converging mirror and is used to obtain a
parallel beam of light.
(Y2 mark)
Convex Mirror
(Y2 mark)
because convex mirror give an erect, virtual and full
size diminished image of distant objects with a wider
field of view.
(Any one, Y2 mark)
Or

3qd o yqdd o

39 o 9T ¥ HleT | 3add o/ g 8 # &
IR ARy & uder | gdemr dur ARy &
gidr gl AYer gt g

3dcl o g T YINT | 3faddl o HI GINET
IEC eIV & fHaRuT | Feheefe av &
& ® HA Far oar | Farer F & F Fav
gl ST




3dd o9 H qE] I
gyfdfers  areafas
dUT 3ol g4dT gl

add oF H qE] T
gfafars  3mary g
e gqar gl

3dd oF I Bihd

' geTlcAS g gl

Fadd ol g H Bled
g HOMcHAS grar ¢l

3dd ol UHhIA I
fom 1 TR g W
hfed atar &

yadd o Tehrer hr
fpYoT & fo@ 2ar &

(P deT; IAH T 1 3iF)

Convex lens

Concave lens

The convex lens is
thicker from the
middle and thinner
at the edges.

Concave lenses are
thinner in the middle
and thicker at the
edges.

Convex lenses are
used as a
prevention of
farsightedness.

Concave lenses are
used as a prevention
of nearsightedness.

In convex lenses,
the image of the
object becomes real
and inverted.

In concave lenses,
the image of the
object becomes
virtual and erect.

The focal length of
convex lenses s
positive.

The focal length of
concave lenses are
negative.




Convex lenses | Concave lens diverge
converges rays of|rays of light
light at one point

(Any three; 1 mark each)

b)
1 1 1
f v u
(1 3#65)
1 1
f v u
(1 Mark)

c) 5T el W F wHw g 1 e @ ar 3§ I
§TAAT 1 S Fgadr gl

(1 37)
When the focal length of a lens is 1 meter, the power
of that lens is called 1 diopter.

(1 mark)

11. | ¢) =scIaT

Nitrogen
12. | c) Sfper AET

Baking Soda
13. | AWISC

Graphite
14. xﬁ%uﬂagmmg%maqﬁmﬁaam

T fopar S 3T gahg T gl




Sodium is a highly reactive metal which reacts with
the oxygen present in the air and catches fire.

15,

c) A I & WJ R 38T &l

A is true but R is false.

16.

9 37Fe fhdl &R & fohdl &Xar & a9 oauT 3R oo
oA B
(1 37h)
NaOH + HCI - NaCl + H,O
(IT IS 3T 3G1eI0T, 1 3h)

When acid reacts with a base, salts and water are
formed.
(1 mark)
NaOH + HCI - NaCl + H,O
(or any other example, 1 mark)

17.

38 Had H HfeqdIHA FHElIC gidr ¢l

(Y2 31)
S9 3N asite 3Fd fAurr Sar § A Fee
STS3HTFATSS I HeFd Bl &l

(V2 37h)
CaCO3; + HNO3; > Ca(NOs3), + H,O + CO,
(1 3i)
Egg shells contain calcium carbonate.
(Y2 mark)

Carbon dioxide gas is released when nitric acid is
added to it.

(Y2 mark)
CaCO3; + HNO3;> Ca(NOs3); + H,O + CO,




(1 mark)

18.

AYASH 3T (BITES 375 gl
(1 3i)
RS IRIEED 3 HCOOH gl
(1 3i)
Y Ugd 9« & T s o 3ucey & &qur
3ergIond, afer @ (NaHCO;) 380 W 9T & o
ST FehaT Bl
(1 3i)
Methanoic acid (formic acid).
(1 mark)
The chemical formula is HCOOH.
(1 mark)
Any available basic salts, for example, baking soda
(NaHCO3) can be used to relieve this.
(1 mark)

19.

grd 341

1. 91qV &R 3iferarss | 1. U 3rFel A
CEII JereT Jirarss
AT

2. 91qU o] HCl a1 | 2. 31emqu

del H,SO, & 3ffAfshar | dsf HCI T

X Hy 3 AFT &I | T HSO, &

g, Fifh gISgIoA T | ATATRAT A&7 T
faraa & &l &1 | €, T grsgio &
farfa &g s
el




3. UIqU 39U gl

3. 3-T‘E—II<;I'5 EEBIEED

gieir 2l

4. QU STeT (AT A9) @
gBsolT ol farariad
AT &l § |

4. 3 ST 4 AT
g & FfRfRar 8
ST g | 3c: Hy, &r
ST O g w7

Sl gl
5.4V Soldeled ol | 5. 3TV Selarciel
Y YollcHD AT JdguT  hI HKUMcHSD
AT &1 RIS §arar &

6. T %ngfr’Hzﬂ
{AET F gISSes Aol
CEirs i

6. @ef 3remqu H, &
{INT &L FISgeS
AT ST &

(IS dIeT; Ycdh T 1 3H)

metals

non-metals

1. Metals form basic
oxides.

1. Nonmetals form
acidic or neutral
oxides.

2. Metals react with

diluted HCI or dilute

H,SO, to release H,
gas, as they displace
hydrogen.

2. Non-metals do
not react with
dilute HCI or dilute
H,SO,, because
they do not
displace hydrogen.




3. Metals are
reducing in nature.

3. Non-metals are
oxidising in nature.

4. Metals displace
hydrogen from water
(or steam).

4. Non-metals do
not react with
water or steam.
Therefore, H, is
not displaced from
water.

5.Metals lose
electrons to form
positive ions.

5. Non-metals gain
electrons to form
negative ions.

6. Not all metals
combine with H, to
form hydrides.

6. All non-metals
combine with H, to
form hydrides.

(Any three; 1 mark each)

Or
Tl IGEGING]
g arg &I
> arg I et
3ureafa & giar & @ ¥
gl
o | T s
& forT grar g




TS 1Ak AT

O ¥ F 3TEh I
3ffereliepel g1 STl Tel arar gl
gl

SUH 31IEh &l SHH 3IEh &l
Ul &4 ¥ T | ges @@ fear
ST &l ST &

(IS ar; IcAd & 1 37F)
$ToteT: ZnS + O, > ZnO + SO,

fA¥amgs; CaCO; > CaO + CO,
(TAT AT 3T 3CTEIVT, YA T ¥ 3h)

roasting calcination

It occurs in the Occurs in the
presence of air. absence of air.

_ _ It is for
It is for Sulphide

ores.

Carbonate, oxide,
hydroxide ores.

The ore becomes
partially or The ore is not
completely oxidized.

oxidized.




In this, the ore is | In this, the ore is
completely not allowed to
melted. melt.

(Any two; 1 mark each)
roasting: ZnS + O, > ZnO + SO,

calcination: CaCO; »> CaO + CO,
(Or any other example., Y2 mark each)

20.

a)

e grsgiehtest & YlfSTa 3rar foehel St et
I IUTEATT H FTSSrolel & AT § HJocl BISSIehrael Soidl
g, 5 grssIeeevor wga gl

(1 37)

Me@@e  3qudler- 3HJed aar (Faeafd dell) &

~

AN

BISSIoleileh Ol ¥ Feeqld © (HJC adT) SeIrar il gl
(1 31h)
Saturated hydrocarbons are formed by the addition

of unsaturated hydrocarbons and hydrogen in the
presence of catalysts such as palladium or nickel,
which is called hydrogenation.

(1 Mark)
Industrial Applications- Vegetable ghee (saturated
fat) is made from hydrogenation of unsaturated fats
(vegetable oils).

(1 Mark)




b) HEewT: (Y2 31h)

I H e & & T WA & 6§ Fellel T
37 &TACT Bl &1 SH 0T & HGolel &gd ol ol
IR F hleeT T ofell H@ell el T faffe= eman3i

aTell AWl IT IFET & R H AT il qIT
ST 2l

(1 37R)
;. FATSTehT: (V2 37R)

FeT H IR AToThdl 8ldT &l SATIT STH FHIeed & AR
k=) qupﬁ TN FS I gdrsieh dedl & qmrtg&ﬁ &
AT YA TATeT FT &TACT 2y 2

(1 3i)

Catenation:
(Y2 mark)
Carbon has an amazing ability to form bonds with
other atoms of carbon itself. This quality is called
catenation. Long chains of carbon in these
compounds carbon are found arranged in the shape
of a chain or ring with different branches of carbon.

(1 Mark)
Tetravalency:
(Y2 Mark)
Carbon has four valency. It therefore has the ability
to form bonds with four other atoms of carbon or
atoms of some other elements.

(1 Mark)

Or




G
CHy — CHiz — CH3z — CHa — CHy
(ii)
CHs -~ CHy — CH — CHj
I
CHo
(i)
CHs
CHz — (.!' — CH3
CH,
Three:
)
CHy — CHs — CHz — ClHa — CHy
(i)
CH3 — CHz— CH — CHyj
|
CHA
(ui)
CHsy
[
CHz—- C — CHs
L]
CHy
b)
) H O

.
H—C—C—OH

l
H

(Y2 31)

(IAF HT V2 37h)

(Y2 mark)

(Y2 mark each)




(1 3/) / (1 Mark)

. H H H H H

) L
H~C=(C=(C=(C=(C-—Br

I

H H H H H

(1 3/) / (1 Mark)

iii) H H H H H O
E i 4 9 4 9
, H=—C—C—C—C—C—C—H
l | l l I
H H H H H

(1 3t) / (1 Mark)

\J

21. | a) &T
Glass
22. | ¢) 3T et |
Both of the above
23. | 3iTFdree
Oxygen
24. | sgfae
Insulin
25.|a) A d R gl G § 9T R, A &I &g <rEn gl




Both A and R are true, and R is the correct
explanation of A.

26.

ITATETSH: Teh AN X@T A AT, Aigfehel TATT, Teh
Gf8el 33T

(FS aY; IA® HT % 37F)
AZAT: TFdeld, aR 3T, JHe

(S 2T, TAH F Yo 37h)

Cerebellum: Walking in a straight line, cycling, lifting
a pencil (any two; %2 marks each)
Medulla: blood pressure, salivation, vomiting

(any two; %2 marks each)

27.

. & STl o &I & 3R &I TG
. 37aIfSd ITHEGEAT FT Ahed & [T
. gisT IR W9 & FAROT &l Ahed & [T
ST gefe &l AT el
(1S 2 TAH & 1 3ih)

A W N =

1. To increase the gap between two children.
2. To prevent unwanted pregnancy.
3. To prevent transmission of sexually transmitted
diseases.
4. To control population growth.
(Any two; 1 mark each)




28.

BRI 3IRT- 1 3%, FIs IR 3T ATHGT, Tcddh HT
V> 37h)

— Stigma

Pistil

(Proper diagram- 1 mark, any four proper labelling;

Y2 mark each)




29.

AsA o 9l fh ey od HeT & WY qUT ey
diet A & 9T & g gHIor F Fy drer F ured
gefr 9t o« o)

I
I x (w — (e, (T, (7o), (T)
@ o o (7, )
HUTA, ar &Tull # & hdel Teh Ygah FeTehid oI&ToT
& @S &ar ¥1gy v oefur SEa

(1.5 3ih)

efada axor & 3@l Fy (T t) @& & wreq qted &
TIYIATOT AT dF 9rar fob o qur sl 9 &
AT 3:1 ATl AU Fp, I & o o Y e
Y, o SieT WY ryerdr Tefor arer ot A

1.

(T0) % () ClOsSbreeling. pm T, @B Y
T[T = Elel

U HSST & TIAET & TASC @ SATdT g Toh oI&for
qHTAT AT AYATAT & Thd |

(1.5 3iF)

Mendel found that F is caused by hybridization
between pure long pea plant and pure dwarf
pea plant; All the plants obtained in the
generation were tall.

l.

(TT) «x (‘tt'J — (To, (Ty, Ty, (Ty)
o | o (F




That is, only one of the two traits appears
ancestral trait.
This is called dominant traits.

(1.5 marks)

In the second stage, he; (t t) When self-
polling was done in the plants obtained from
the generation, it was found that the ratio of
long and dwarf plant was 3 : 1. i.e. F, Tall
plants were also dominant in generation, but
dwarf plants were also with recessive traits.

(TO) x (T1) crosspreeding TT) T, (T (0
T i 1

That is, the use of Mendel makes it clear that

symptoms can be effective or ineffective.
(1.5 marks)
Or

Adl & foier @1 FUReT a9y fofor a7 & & 3R
W BIaT &1 7R H XY 707 g4 8l § AR #Arer & XX o
g e g1d &1 399 Tuse § & Aer & q& Y aqor
A gId &1 el gl Sfe e-AlET & HART & Fdlol 3o
I & ar Aer el off srawar F wX Ry ' IUeT
F # FHS & A wR FAfE A R A XY On
T gl A (1 37%)

o= fohar & afe gew &1 X folar a7 g7 & & X
feler qorgE & fAear & ar 388 XX SisT oo 3
HdTel ofghT & ¥ & grafr| (1 37h)




Afehed ST &Y 71 Y folar 901 g & & feler o1 g+
O Ao ANaeT T af XY §a91| S8 ofgdh &l Sled
QeI (1 3/)

In human beings, sex is determined on the basis of
specific  sex chromosomes. Males have XY
chromosomes and females have XX chromosomes.
It is clear from this that the female does not have
the Y chromosome. When offspring are produced by
male-female combination, the female may not be able
to produce a male infant at any stage because the
male infant must have XY chromosomes.

(1 mark)

In fertilization, if the X chromosome of a man is
fused with the X chromosome of the woman, then it
will form an XX pair. Hence, the child will be in the
form of a girl. (1 mark)

But when a man's Y chromosome combines with the
female's chromosome X, XY will be formed. This will
lead to the birth of a boy.

(1 mark)

TS gryoT TSYaEgeT gryor




qIyuT T gg faur oaH
ST 39T el FaT
IR $T ThT &.

qQIyoT ST gg afer
Sgd S &g

oTel Xl &

SH YhR HI 9T gihar
H, Sfa e & foT 3
Siar & Tadd gidar gl

ST YR H, Shia
qYoT & & H
ot & T 37T
St o R @rar
gl

SH YR o GINUT H Fhrer
HRAYUT T YTshdT &
ATETH O FT & Teh1er
3geafa H Fee
SIS3HTFATSS 3R dreir T
3T Hlch ATl IR
ST AT g

PIS ThIA TTh
afafafer =g g
gl

qIYoT & 38 i Hl
ASa = arel Sfia &r
3cUIGahl o T H STl
ST &

qIYoT & 38 I
o ST s
arel Sfar &l

3TAFATI & &
H ST 7T gl

gIY0T & 3H YR H, T
e geraf r SAfed
Pt Jerdt H gRafdd
frar Srar g

sHH Sfce Frafas
it T @
A & AR T
T "TH A T
& forT gamar Srar
gl




qIYoT T fawerardt
qIYUT &l Jg oIl Gitli  |9pR T8 SATeTary,
3N Fo aAel-g Aarel 3N (Fash R 37
SFETRAT @ ol SITer | HeiT IR-Sehrer

el T2 Shar #F
gicTl &1

(FS deT; Ychh T 1 )

. . Heterotrophic
Autotrophic nutrition -
nutrition

. The mode of
The mode of nutrition L _
_ _ _ nutrition in which
in which the organism _
_ the organism does
can prepare their own _
not prepare their
food.
food themselves

In this type of In this type, the
nutritional process, the |organism is
organism is dependent on other
independent of other organisms for food
organisms for food. as nourishment.

This type of nutritional
mode involves
preparing food using No photosynthetic
carbon dioxide and activity occurs.
water in the presence
of sunlight through the




process of
photosynthesis.

The organism
employing this mode of
nutrition are known as
producers.

The organisms
employing this
mode of nutrition
are known as
consumers.

In this mode of
nutrition, simple
inorganic substances
are converted into

complex organic ones.

It involves
consumption of
complex organic
compounds and
then digested to
break down into
simpler
components.

This mode of nutrition
is carried out by the
plants and some blue-
green algae and

The heterotrophic
mode of nutrition
occurs in all
animals, fungi, and
all other non-

bacteria. photosynthetic
organisms.
(Any three; 1 mark each)
b)

(i) 3TerdIoteT &1 aRaga:




3TerEISToT 3] SATCiee 3] & I & S8 Hohdl
gl T&d # AlG[g SRS $hst H gar ¥ i
Jar &1 g AT Y 39 Fdet H o Jar g FaH
TSt i HAT gt B

(1 3ih)

(i) PIeeT SSIHTFASS DI TRAG:

Sl TG, P SBHFASS ULl H 3w gorerlier B
SAfoIT, I§ SAGIR §AR (&d Celled 7 gfod &
T & Fde F BHer H of AT ST gl

(1 37)

(i) Transport of oxygen:
The oxygen molecule can bind to the haemoglobin
molecules easily. Haemoglobin present in the blood
takes up the oxygen from the air in the lungs. It
carries the oxygen to tissues which are deficient in
oxygen before releasing it.

(1 mark)

(i) Transport of carbon dioxide:
Similarly, Carbon dioxide is more soluble in water.
Therefore, it is mostly transported from body tissues
in the dissolved form in our blood plasma to lungs.
(1 mark)
Or




e IL I
\ (forga #)

BRI 3R@- 1 3%, g IR 3T ATHRA,; TAh FH
Vs 37h)

Left renal (Prop er

artery

Left kidney
Left renal vein

Aorta

Left ureter

Vena cava
Urinary bladder

Urethra

diagram- 1 mark, any four proper labelling; 2 mark
each)

b)




T A geg A g o
STl &

3fereioteT gerd Tercl T IR & dgd
aEel A & AT §

SHPT TATT WR & SHPT TATT cddl o hd
e I8 & 3
HeFelloTel geobel T & | JHTeRdioTer g T o

FROT 3AHT LT ool

T Fr 3R FT o IATdr &

ROT JeTahl IFd il BicT

giar & g

HAAT F TSI

P ] GIE]]
N fART3N & g disr &

IFd YdIg T cdId IFd UdTg &l &d1d e gidm

37T BT & J

(FS a; IAF FT 1 3F)

Arteries

Veins

Carries blood away
from the heart

Carries blood
towards the heart

Carries oxygenated
blood

Carries
deoxygenated blood

Its location is deep

Ilts location is close

within the body to the skin
Their colour is red | Their blood is blue
due to the due to the

oxygenated blood

deoxygenated blood

The lumen in

arteries is narrow

The lumen in veins

is wide




The pressure of
blood flowing is
high

The pressure of
blood flowing is low

(Any two; 1 mark each)
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